Lattice Multiplication (B)

Use lattice multiplication to find each product.

74903 x 32902 = 75558 x 65601 =

12915 x 90984 = 82398 x 42804 =
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Lattice Multiplication (B) Answers

Use lattice multiplication to find each product.

7 4 9 0 3 7 5 5 5 8

2 1 2 0 0 3 4 3 3 3 4 6
2 1 2 7 0 9 4 2 0 0 0 8

1 0 1 0 0 ) 3 2 2 2 4 5
4 4 8 8 0 6 9 5 5 5 5 0

6 3 8 0 2 9 4 3 3 3 4 6
6 3 6 1 0 7 5 2 0 0 0 8

0 0 0 0 0 0 0 0 0 0 0 0
4 0 0 0 0 0 6 0 0 0 0 0

1 0 1 0 0 2 0 0 0 0 0 1
4 4 8 8 0 6 6 7 5 5 5 8

5 8 5 0 6 8 0 3 5 8

74903 x 32902 = 2,464,458,506 75558 x 65601 = 4,956.680,358
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12915 x 90984 = 1, 175,058,360 82398 x 42804 = 3,526,963,992
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